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c}d ²¥¾^c  
 

 

 qHc\p HcHy q²¾crIV Hc} de} qH qBg \of²¾ \§Wc Wy N\y h}By 9 \¥²y¾ + 1 `p²¾qM§Wc 

h²¾¾ & 

 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 

`t§I \¥²y¾ Wy kcvc qd§IV & 

 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 17 \of²¾ h²¾ & 

 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 

 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 

\§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hr 

qdIVJy & 

  Please check that this question paper contains 9 printed pages + 1 Map. 

  Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

  Please check that this question paper contains 17 questions. 

  Please write down the Serial Number of the question before 

attempting it. 

  15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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qBqWhpg¾ 
(\¥Op^r EdXp) 

HISTORY 
(Punjabi Version) 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 80 

Time allowed : 3 hours Maximum Marks : 80 

qeAp\H q²¾cYyf : 

(i) gpcy \of²¾p£ Yy E¨Wc qYE & HtP \of²¾p£ dBr A¥Ycv²¾r qeHd\ qY§Wy 
JBy h²¾ & hc qBH \of²¾ Yy A¥H EgYy gp`ªVy A¥qHW h²¾ & 

(ii) \of²¾ g¥qIAp 1 W~ 3 Y} A¥H epdy h²¾, hc qBH \of²¾ Yp E¨Wc  
30 f^Yp£ W~ eZrH ²¾hs h}Vp MphrYp h± & 

(iii) \of²¾ g¥qIAp 4 W~ 9 Mpc A¥H epdy h²¾ & hc qBH \of²¾ Yp E¨Wc 
100 f^Yp£ W~ eZrH ²¾hs h}Vp MphrYp h± & qeqYApcXr ²¥¾v qBg I¥T 
W~ Hyed \¥O \of²¾ hd Hc²y¾ MphrYy h²¾ & 

(iv) \of²¾ g¥qIAp 10 `t§d AZpcW \of²¾ h± AWy kcvcr h±, qBh \of²¾ er 
Mpc A¥H Yp h± & 

(v) \of²¾ g¥qIAp 11 W~ 13 A§S¾ A¥H epdy h²¾ & qB²¾ªp£ hc qBH \of²¾ Yp 
E¨Wc 350 f^Yp£ W~ eZrH ²¾hs h}Vp MphrYp h± &  

(vi) \of²¾ g¥qIAp 14 W~ 16 gc}Wp£ Wy ApZpqcW h²¾ & qB²¾ªp£ qeM H}Br 
A¥Ycv²¾r qeHd\ ²¾hs h± & 

(vii) \of²¾ g¥qIAp 17 `p²¾ qM§Wc g¥̂ ¥Zr h±, qO²¾ªp£ qeM dNVp£ ²¥¾v \qhMpV} 
AWy `hWe\vcV `Yp£ ²¥¾v YcgpVp fpq`d h± & `p²¾ qM§Wc ²¥¾v E¨Wc 
\tgWH Yy A¥Yc ²§¾Xr Hc²¾ & 
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I¥T A 

hyS¾ qY§Wy gpcy \of²¾p£ Yy E¨Wc qd§I} : 23=6 

1. `tUdy g`pO qeM 600 Br.\v. W~ 600 Brger WH Yy g`z Y¡cp²¾ qd¥J _yY Hr 

gM`tM hr ghWe\vc²¾ g²¾ ? ecV²¾ Hc} & 2 

2. qeO±²¾Jc f±hcr IyWc Yy Ycq`Ap²¾ qHdy^¥Yr HrWy IyWc qeM IyWrephr a}J 

ZcWr ²¥¾v Kyc²¾ Yr `hWWp Yr \cI Hc} & 2 

3. ‘‘\pqHgWp²¾ AWy _pcW Yy g¥^¥Z Jvhmy W¡c Wy ^Repcy Yr qecpgW cphs gpHpc 

ht¥Yy chy h²¾ &’’ qBg Yy qHgy Y} ²¾WrqOAp£ Yr qeApqIAp Hc} & 2 

 

I¥T B 

_pJ I  

hyS¾ qdqIAp£ qeM~ qHgy \¥O \of²¾p£ Yy E¨Wc qd§I} : 45=20 

4. g¥qeZp²¾ g_p qeM YdW ecJp£ Yy gtcqIAV Yy \§I qeM qY§Wy JBy eI} eI 

WcHp£ (Ydrdp£) Yp ecV²¾ Hc} & 4 

5. qBh qHez qg§Z Hc}Jy qH `hp£_pcW Yp qefpegWv JqWApW`H gr ? qeApqIAp 

Hc} & 4 

6. ^c²¾rAc ²y¾ `tJdHpd Yy f±hcp£ ²¥¾v ‘N¡Vr ²¾Jc’ Yy cv\ qeM hr ecq²¾W qHE¤ 

HrWp ? \cI Hc} & 4 
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7. Wtgs qBh qHez g`PYy h} qH H¥Zpc, `tjdp£ AWy g³pqeAp£ Yy Ycq`Ap²¾ PJmy 

Yr Omª qchp gr ? g\fR Hc} & 4 

8. `}h²¾O}Ym} Yy Kcydv EgpcrHdp YrAp£ q²¾eyHdrAp£ qefyfWpep£ Yp ecV²¾ Hc} & 4 

9. 1920 AWy 1930 Yy YhpqHAp£ Yy Y¡cp²¾ YrAp£ E²¾ªp£ KR²¾pep£ Yr \cI Hc} 

qO²¾ªp£ ²y¾ Yyf qeM g¥\oYpqBH Ag`Wpep£ ²¥¾v \§Hp HrWp & 4 

 

_pJ II  

 `t§d ApZpqcW \of²¾ (kcvcr) 41=4 

10. ‘‘Jp£Zr Or qOW²y¾ cpO²¾rWH g²¾ EW²y¾ hr Eh g`pO gtZpcH er g²¾ & E²¾ªp£ 

Yp aHr²¾ gr qH gtW¥WcWp Yy a}J ^V²¾ Yy dBr _pcWrAp£ ²¥¾v ^pd qeAph AWy 

NvAp-NvW OhrAp£ g`pOH ^tqcApBrAp£ W} `tHW h}Vp \ByJp & qBH Zc`¾ Yy 

_pcWrAp£ ²¥¾v Yvgcy Zc` Yy _pcWrAp£ Yy dBr g§Mp g¥O` qdApVp \ByJp AWy 

qBg Wcªp£ E²¾ªp£ ²y¾ qh¥Yv-`tgd`p²¾p£ Yy Ycq`Ap²¾ gqhVfrdWp E\c k}c  

qYWp &’’ 

 E\c qYWy JBy HX²¾ Yy \og¥J qeM `hpW`p Jp£Zr cphs \tfRr HrWy JBy `t§dp£ 

E\c c}f²¾r \pG & 4 
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I¥T C 

 d¥ ŷ E¨Wc epdy \of²¾ 83=24 

11. 600 Br.\v. W~ 600 Brger WH qHgp²¾p£ cphs IyWr Yr \±Yp Hc²¾ Yr fHWr 

(EW\pYHWp) ²¥¾v eZpEV Yy dBr A\VpBy JBy W¡c WcrqHAp£ Yr qeApqIAp 

Hc} &  8 

Op£ 

 `}crAp \ofpg²¾ YrAp£ `tI qefyfWpep£ Yr qeApqIAp Hc} & 8 

12. gv³r g¥Wp£ AWy cpO Yy Ycq`Ap²¾ A§S¾er fWp^Yr W~ AS¾pcªes fWp^Yr Yy 

Y¡cp²¾ g¥ ¥̂Zp£ Yr \NpV Hc} & 8 

Op£ 

 Wq`d²¾pTt Yy Adepc AWy ²¾a²¾pc g¥Wp£ Yp cpO Yy Ycq`Ap²¾ A§S¾er fWp^Yr 

W~ AS¾pcªes fWp^Yr Yy Y¡cp²¾ g¥ ¥̂Zp£ Yr \NpV Hc} & 8 

13. g¥²¾ 1813 qeM q^oqRf g¥gY qeM \yf HrWr JBr \¥Oes qc\}cR Yy `t§I 

\±hdvAp£ Yr \cI Hc} & 8 

Op£ 

 1857 Yy qeYc}h Yy qMWcp£ (\oHR q²¾cv\Vp£) Yr \cI Hc} qO²¾ªp£ W~ A²y¾H \oHpc 

YrAp£ _pe²¾pep£ AWy \oqWqnApep£ \±Yp ht¥YrAp£ h²¾ & 8  
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I¥T D 

 gc}W AZpcW \of²¾ 73=21 

14. hyS¾ qd§Iy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qYWy \of²¾p£ Yy E¨Wc qd§I} : 

qBH qYhpWr f±hc ? 

`Ycpg Yy ^pcy qeM qB¥`\rqcAd JkyqRac, 1908 qeM N§\y qBg A¥f ²¥¾v  

\m}ª : 

... ^yhWc avc}\r qchpqBf AhpWy Yy Ycq`Ap²¾ ^VpBy Op£Yy h²¾ 

qOgW~ qB²¾ªp£ Yr qYI dJ_J qBH \pcH ecJr ^V Op£Yr h±; AWy 

qB²¾ªp£ Yy Ycq`Ap²¾ WHcr^²¾ q\¥Tp£ Yr Wck Wy Mped Yy IyW Ap£Yy 

Op£Yy cqh¥Yy h²¾ & qBX~ WH qH ^d±H RpF²¾ AWy qRo\drHy²¾ 

ecJrAp£ g_ W~ KVr Ap^pYr epdrAp£ Yygr ^gWrAp£ qeM er Eh} 

Ohr _rm _pm ²¾hs qYgYr qOh} Ohr Yvgcy f±hcp£ qeM qYIpBr 

YzYr h± ... & 

(14.1) ^yhWc avc}\r qchpqBf AhpWy qH§Xy AWy qHE¤ ^VpBy Op£Yy h²¾ ? 3 

(14.2) ^d±H RpF²¾p£ Yr hpdW ^pcy qegWpc ²¾pd qd§I} & 2 

(14.3) `Ycpg Yy h¡dr h¡dr ²¾JcrHc²¾ h}V Yp AcX qd§I} & 2 



222/3 7 P.T.O. 

15. hyS¾ qd§Iy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qYWy \of²¾p£ Yy E¨Wc qd§I} : 

qehpc qeM ^t§Z Zc` 

gt§W q\RH qeM~ dBy JBy qBg \±cy qeM t̂§Z qgJd ²¾p` Yy qBH A`rc Kcepdy 

²¥¾v gdph Yy chy h²¾ : 

`pdH ²¥¾v Ap\Vy ²¡¾Hcp£ AWy Hc`MpcrAp£ Yr \¥O Wcªp£ YyI_pd 

Hc²¾r MphrYr h± ... E²¾ªp£ Yr WpHW Yy A²¾®gpc H¥` Yy Hy, E²¾ªp£ ²¥¾v 

_}O²¾ AWy `kYvcr Yy Hy, ^r`pc \±V Wy E²¾ªp£ Yr Wr`pcYpcr HcHy, 

E²¾ªp£ Yy ²¾pd gepYr IpVy e¥T Hy AWy g`z g`z Wy Nt§Rr Yy Hy ... 

H^rdy Yy d}Hp£ ²¥¾v \¥O Wcp£ ²¾pd gc`Vp£ (qO²¾ªp£ g¥gpcH  

Ore²¾-Kc ^pc qWApqJAp h}ey) AWy ^oph`Vp Yr YyI_pd Hc²¾r 

MphrYr h± ... Hc`, eM²¾ AWy `²¾ qeM \oy` cphs, E²¾ªp£ ²¥¾v Or 

ApqBAp£ HqhV Yy dBr h`yfp£ Kc Itdyª cIHy AWy E²¾ªp£ YrAp£ qY²¾ 

\oqWqY²¾ YrAp£ kcvcWp£ \vcrAp£ HcHy & 

qgJd ²¥¾v `pWp q\Wp, AqZAp\H AWy \W²¾r Yy ²¾pd qehpc Yy dBr 

er AOyhy hr E\Yyf qY§Wy JBy h²¾ & 

(15.1) `pdH ²¥¾v Ap\Vy ²¡¾Hcp£ AWy Hc`MpcrAp£ Yr qHez g¥_pd Hc²¾r 

MphrYr h± ?  2 

(15.2) H^rdy Yy d}Hp£ ²¥¾v gc`Vp£ YrAp£ d}mp£ Yr qHez YyI_pd Hc²¾r MphrYr 

h± ?  2 

(15.3) ^}Z Ycf²¾ (³dg³y) Yy \o`tI \±hdvAp£ Yr qeApqIAp Hc} &  3 
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16. hyS¾ qd§Iy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qYWy \of²¾p£ Yy E¨Wc qd§I} : 

 _~ dJp²¾ qBH§S¾p Hc²¾ ^pcy ApqB²¾ qeM~ qBH \±cp :  

A`rd Jtkpc qgc³ ²¾HY d±V Yr ApYW ²¾p \pey ^dqH ³gd er 

d±V Yy dBr qWApc chy & qBh ^pY epdp WcrHp HBr Wcªp£ ²¾pd 

H¥` qeM qdApqBAp Op gHYp h± & \±hdp, HVHt§W: qh¥Yr kt^p²¾ 

qeM HV Yp AcX h± A²¾pO AWy Ht§W Yp AcX h± A¥Ypkp ... OyHc 

H}Br fH ²¾p h}ey Wp£ ³gd ²¥¾v HR Hy qW¥²¾ AdJ AdJ UycrAp£ qeM 

cI qY§Wp OpBy — eZrAp, Ap`W¡c Wy S¾rH AWy Icp^ & qBg Wcªp£ 

qHgy qHg` Yp er fH Yvc Hc²¾p MphrYp h± & Ap`W¡c Wy A¥Ypky 

²¾pd HrWp qJAp O`r²¾ Yp dyIp er Hp³r hY WH S¾rH ²¾WrOy YzYp 

h± & Yvgcp, ^RpBr qOg²¥¾v _¡dr er Hqh¥Yy h²¾, ³gd HR Hy O`p 

Hc dBr Op£Yr h± & q³c gpcrAp£ qZcp£ Yy gp`ªVy ckp ¥̀Yr ²¾pd 

^Repcp HrWp Op£Yp h± & \c qBXy er g`PYpc q²¾crIHp£ Yr d}m 

ht¥Yr h± & ec²¾p _±my q`kpO epdy AWy §̀Hpc, Z}Iy^pkr Yr ²¾raW 

cIYy h²¾ & Wrgcy, IyW ^RpBr OY~ Eh ^rO ^rOV W~ q\§N~ IyW 

e¥T d|Yy h²¾ & M¡Xy, d¢J ^RpBr; ³gd HRV W~ ^pY, Eh EgYy 

Uyc ^Vp d|Yy h²¾ AWy q³c Eg²¥¾v Ap\} qeM e¥T d|Yy h²¾, AWy 

hcyH \§I Ap\Vp qh§gp Kc d± Op£Yp h± AWy EgW~ `t²¾p³p (dp_) 

H`p£Yp h± & 

(16.1) _~ dJp²¾ Yr HVHt§W: f±dr ^pcy g\fR Hc} & 2 

(16.2) ^RpBr Op£ _¡dr Yy `p`qdAp£ qeM _~ dJp²¾ Yp qHez `td¥HV HrWp 

Op£Yp gr ? 2 

(16.3) Hr Wtgs g}MYy h} qH `tjdp£ Yr _~ dJp²¾ \oVpdr dMrdr gr ? 3 
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I¥T E  

 (`p²¾qM§Wc g¥^¥Zr \of²¾) 51=5 

17. (17.1) _pcW Yy qY§Wy h}By cpO²¾rWH cyIp `p²¾qM§Wc (\¥²¾p 11 Wy) E\c hyS¾ 

qdqIAp£ ²¥¾v UtHez qM²¾ªp£ ²¾pd A¥qHW Hc} AWy E²¾ªp£ Yy ²¾p` qd§I} : 12=2 

 (C) `pgvdr\§R²¾` — 1857 Yy Y¡cp²¾ q ôqRf q²¾a¥WoV Yy AZr²¾ IyWc & 

 (A) J}Ap — t̀jd gp`cpO Yy AZr²¾ IyWc & 

(17.2) _pcW Yy qY§Wy JBy qBgy hr cyIp `p²¾qM§Wc E\c qW¥²¾ gXp²¾p£ ²¥¾v \o t̀§I 

^}Z gX§d A, B AWy C ²¾pd A¥qHW HrWp qJAp h± & E²¾ªp£ ²¥¾v \NpV} 

AWy ghr ²¾p` EgYy H}d dJrAp£ h}BrAp£ cyIpep£ E\c qd§I} & 13=3 

 

²}¾R : hyS¾ qdIy \of²¾ Hyed qYofRr qeHdp£J \orqIApcXrAp£ Yy dBr \of²¾ g¥qIAp 17 

Yy Xp£ Wy ^Ydey \of²¾ h²¾ : 

(17.1) 1857 Yy Y¡cp²¾ q^oqRf q²¾a¥qWoW qHgy cpO/IyWc Yp ²¾p` qd§I} &  

(17.2) `tJdp£ Yy AZr²¾ qHgy cpO/IyWc Yp ²¾p` qd§I} &  

(17.3) qHgy qW¥²¾ ^¡Z gXdp£ Yy ²¾p` qd§I} & 1+1+3=5 
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\of²¾ g¥. 17.1 AWy 17.2 Yy dBr 

 

     100 


